a =  all tasks/session are set a

b =  all tasks/session are set b

Odd #s = P/U mood

Even #s = U/P mood

S2,S3 = Session 2,3

Renumber any S1 mood failures in the 900s, ie. #103 would become #903

SJN     TASK S2, S3     RM     RA                 SESS1 DATE     SESS2 DATE      SESS3 DATE

161      a,b

162      a,b

163      a,b

164      a,b

165
a,b

166
a,b

167
a,b

168
a,b

169
a,b

170
a,b

171
a,b

172
a,b

173
a,b

174
a,b

175
a,b

a =  all tasks/session are set a

b =  all tasks/session are set b

Odd #s = P/U mood

Even #s = U/P mood

S2,S3 = Session 2,3

Renumber any S1 mood failures in the 900s, ie. #103 would become  #903

SJN     TASK S2, S3     RM     RA                 SESS1 DATE     SESS2 DATE      SESS3 DATE

176
b,a

177
b,a

178
b,a

179
b,a

180
b,a

181
b,a

182
b,a

183
b,a

184
b,a

185
b,a

186
b,a

187
b,a

188
b,a

189
b,a

190
b,a

